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SECTION A — ANSWER ALL 3 QUESTIONS FROM THIS SECTION
Question 1

Starling plc are considering a major investment in new plant and equipment.
To assist the management team to make the correct decision the accountant
has been asked to calculate the companies weighted average cost of capital.
The following information has been extracted from Starling plc s latest balance
sheet

£000 s
800,000 Ordinary Shares of £ 1.00 each 800
400,000 Preference Shares of £ 1.00 each 400
5 % Debenture Loan Stock 200
Bank Loan 500

Interest on the Debenture loan stock is payable at the end of Year 1, Year 2,
Year 3, Year 4 and Year 5. The Debenture loan stock is to be redeemed in
cash at a 20 % premium at the end of five years. The Debenture loan stock
is currently trading at a value of £90 (per £100 nominal).

The ex -dividend market value of the ordinary shares is £3.00. The dividend
paid to ordinary shareholders was 40 pence and It is expected that future
dividends will grow at a rate of 6 % per annum.

There are 400,000 preference shares (non—redeemable or convertible) at a
nominal value of £ 1 per share. The market value of the preference shares
is 80 pence and the annual net dividend of 10 % and has just been paid to
shareholders.

The interest charge on the Bank Loan is 3% above the Bank of England’s
base rate, which currently is at 7%.

Corporation tax is expected to be charged at 20 % per annum from profits
generated from the company.

Required:
(a) Calculate the weighted average after tax-cost of capital of Starling plc.
(12 marks)
(b) Explain the significance of the request from the management team
to calculate the company’s “Weighted Average Cost Capital” prior
to making a decision with regard to the proposed investment. (8 marks)
(c) Evaluate risk in relation to the Capital Asset Pricing Model (5 marks)

(Total 25 Marks)
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Question 2

Sparrow plc is in the mobile phone industry and is considering launching a new
product which improves wi fi connectivity. The required investment in new
technology will be £1 million, which it expects to be out of date in four years.
Marketing and promotion costs for the new product are estimated to be £ 400,000 in
the first year and £80,000 per annum for years 2,3, and 4. The Management Team
have agreed that the new product will be priced at £100 in Year 1 with prices
increasing by 5 % for years 2,3, and 4. Estimated data is as follows:

Year 1 2 3 4
Sales and Production (units) 31,000 32,000 33,000 34,000

The Management Accountant and Production Manager have agreed the following
cost profiles for the first year of production and sales (Year 1):

Direct Material Cost £ 40.00 per item
Other Variable Production Cost £ 25.00 per item
Fixed Costs £600,000 per annum

To be prudent the Management Accountant has suggested that the company should
anticipate production costs to increase by 4 % per annum for years 2,3, and 4.

The company has taken some specialist tax advice and has been advised that with
regard to the investment cost, Sparrow plc will be able to claim capital allowances on
a reducing balance basis at a rate of 25%. In addition, the tax specialist has advised
the company to anticipate corporation tax liability on any profits to be 20% per year
and to settle any tax liability in the year in which they arise. The Management
Accountant has recommended that an after tax discount rate of 12 % should be used
when appraising new capital investments.

Required:
(a) Calculate the net present value of the proposed investment and comment
on your findings. Your comments should be supported by workings and

include any reservations that you might have. (12 marks)

(b) Calculate the internal rate of return of the proposed investment and
comment on your findings. (5 marks)

(c) Evaluate other “Investment Appraisal Techniques” that Sparrow plc could
have adopted. (8 marks)

(Total 25 marks)
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Question 3

The Directors of Heron plc are considering the possibility of

obtaining a listing for the company’s shares on the “Stock Exchange” .

The following information is available.

Income Statement for the Year Ended 31 March 2018

£ Million
Turnover 42.2
Cost of Sales (36.5)
Profit before interest and taxation 5.7
Interest (1.5)
Profit before Taxation 4.2
Taxation (0.8)
Profit attributable to ordinary shareholders 3.4
Dividends (0.3)
Retained Profit 3.1
Statement of Financial Position as at 31 March 2018

£ Million

Non-current assets (at cost less accumulated depreciation)
Land and Building’s
Plant and Machinery

Current Assets

Inventories 4.8
Accounts Receivable 6.2
Cash at Banks 2.5

Ordinary Shares £1

Reserves

Debentures

Current Liabilities

Trade accounts payable 8.2
Bank overdraft 3.6

Question 3 continued over the page
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Question 3 Continued

Average performance ratios for the industry sector in which Heron plc operates are
given below:

Return before interest and tax on long-term capital employed 25%
Return after tax on equity 18%
Operating profit as a percentage of sales 12%
Current Ratio 2:1
Quick (acid test) ratio 1:1
Total debt-equity (gearing) 24%
Dividend Cover S
Interest Cover 5
Required:

(a) Evaluate the financial state and performance of Heron plc by comparing
it with the industry sector it operates in.

(12 marks)
(b) Evaluate the benefits of a Stock Exchange listing. (5 marks)
(c) Advise Heron plc how it could improve its financial
position to make itself more attractive to future investors.
(8 marks)

(Total 25 marks)

END OF SECTION A

CONTINUED OVER THE PAGE, PLEASE TURN OVER
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SECTION B — ANSWER 1 QUESTION ONLY FROM THIS SECTION

Question 4

Falcon plc is a major producer of motor parts that opened a distribution centre in
Thailand four years ago. The venture was not a total success, so the Management
Team have decided to withdraw from Thailand. To raise the finance required to
withdraw from Thailand the Management Team have decided to make a one-for-five
rights issue at a discount of 25 % on the current market value of the shares. The
most recent income statement of the business is as follows.

Income statement for the year ended 31 March 2018 £m
Sales 1,500.00
Net profit before interest and taxation 60.0
Interest payable 28.0
Net profit before taxation 32.0
Company Tax 8.0
Net profit after taxation 24.0
Ordinary dividends payable 12.0
Accumulated profit 12.0
The capital and reserves of the business as at 31 March 2018 £m
£ 0.25 ordinary shares 80.0
Revaluation reserve 120.0
Accumulated profits 300.0
500.0

The shares of the business are currently trading on the Stock Exchange at a
P/E ratio of 14 times. An investor owning 12,000 shares in the business has
received information of the forthcoming rights issue but cannot decide whether
to take up the rights issue, sell the rights or allow the rights offer to lapse.

Required:
(a) Calculate the theoretical ex-rights price of an ordinary share in

Falcon plc. (5 marks)

(b) Calculate the price at which the rights in Falcon plc
are likely to be traded. (5 marks)

(c) Evaluate each of the options available to the investor with
12,000 shares. (5 marks)

(d) Discuss, from the viewpoint of the business, how critical the
pricing of a rights issue is likely to be and explain why this
method of raising finance is preferable to obtaining a bank loan. (20 marks)

(Total 25 marks)

CONTINUED OVER THE PAGE, PLEASE TURN OVER
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Question 5

Parrot plc is an importer / exporter of Televisions. It is based in the Unlted Kingdom
but trades with Vietham. Parrot plc is about to invoice a customer based in Ho Chi
Min City, Vietnam for $900,000 payable in three months’ time. Parrot plc s
accountant is considering two methods of hedging the exchange risk.

These are:

Method 1: Borrow dollars now, converting the loan into sterling and repaying
the dollar loan from the expected receipt in three month’s time.

Method 2: Enter into a 3-month forward exchange contract with the company’s
bank to sell $ 900,000.

The spot rate of exchange is US$ 1.5942 to £1. The 3-month forward rate of
exchange is US $ 1.5766. The annual interest for borrowing in Vietnam is 6%
and for investing in the United Kingdom is 8%.

Required:
(a) Advise Parrot plc s accountant on:
() Which of the two methods is most advantageous to Parrot plc

(i) The factors to consider before deciding whether to hedge the risk
using the foreign currency markets.

(10 marks)

(b) Explain the causes of exchange rate fluctuations.
(6 marks)

(c) Advise the accountant on other methods to hedge
exchange rate risk. (9 marks)

(Total 25 marks)
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Present Value Table

END OF QUESTION PAPER

Presentvalue of 1i.e. (1 + )"
Where r = discount rate and n = number of periods until payment
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Discount rate (r)

Period | 1% 2% 3% 4% 5% 6% 7% 8% 9% 10%

S

(n)

1 099 [0.98 |097 |096 |0.95 094 |0.93 (092 |0.91 |0.90
0 0 1 2 2 3 5 6 7 9

2 098 [0.96 094 |092 |0.90 [0.89 |0.87 |0.85 |0.84 |0.82
0 1 3 5 7 0 3 7 2 6

3 097 {094 |091 088 |0.86 [0.84 |0.81 [0.79 |0.77 |0.75
1 2 5 9 4 0 6 4 2 1

4 096 (092 |0.88 |085 |082 [0.79 |0.76 |0.73 |0.70 |0.68
1 4 8 5 3 2 3 5 8 3

5 095 |0.90 |0.86 |082 |0.78 [0.74 |0.71 |0.68 |0.65 |0.62
1 6 3 2 4 7 3 1 0 1

6 094 |0.88 |0.83 |0.79 |0.74 [0.70 |0.66 |0.63 |0.59 |0.56
2 8 7 0 6 5 6 0 6 4

7 093 |0.87 (081 |0.76 |0.71 [0.66 |0.62 |0.58 |0.54 |0.51
3 1 3 0 1 5 3 3 7 3

8 092 |08 |0.78 |0.73 |0.67 [0.62 |0.58 |0.54 |0.50 |0.46
3 3 9 1 7 7 2 0 2 7

9 091 |0.83 |0.76 |0.70 |0.64 [0.59 |054 |050 |0.46 |0.42
4 7 6 3 5 2 4 0 0 4

10 090 (082 |0.74 |0.67 |061 [0.55 |0.50 |0.46 |0.42 |0.38
5 0 4 6 4 8 8 3 2 6

11 089 [0.80 |0.72 |[0.65 |058 |0.52 |0.47 |0.42 |0.38 |0.35
6 4 2 0 5 7 5 9 8 0

12 088 |[0.78 |0.70 |0.62 |055 [049 |0.44 |0.39 |0.35 |0.31
7 8 1 5 7 7 4 7 6 9

13 0.87 |0.77 |0.68 |[0.60 |0.53 |046 |0.41 [0.36 |0.32 |0.29
9 3 1 1 0 9 5 8 6 0

14 0.87 |0.75 |0.66 |0.57 |0.50 [0.44 |0.38 [0.34 |0.29 |0.26
0 8 1 7 5 2 8 0 9 3

15 086 [0.74 |0.64 |055 |0.48 |041 |0.36 [0.31 |0.27 |0.23
1 3 2 5 1 7 2 5 5 9
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11%

12%

13%

14%

15%

16%

17%

18%

19%

20%

0.901

0.893

0.885

0.877

0.870

0.862

0.855

0.847

0.840

0.833

0.812

0.797

0.783

0.769

0.756

0.743

0.731

0.718

0.706

0.694

0.731

0.712

0.693

0.675

0.658

0.641

0.624

0.609

0.593

0.579

0.659

0.636

0.613

0.592

0.572

0.552

0.534

0.516

0.499

0.482

0.594

0.567

0.543

0.519

0.497

0.476

0.456

0.437

0.419

0.402

0.535

0.507

0.480

0.456

0.432

0.410

0.390

0.370

0.352

0.335

0.482

0.452

0.425

0.400

0.376

0.354

0.333

0.314

0.296

0.279

0.434

0.404

0.376

0.351

0.327

0.305

0.285

0.266

0.249

0.233
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0.391

0.361

0.333

0.308

0.284

0.263

0.243

0.225

0.209

0.194

0.352

0.322

0.295

0.270

0.247

0.227

0.208

0.191

0.176

0.162

0.317

0.287

0.261

0.237

0.215

0.195

0.178

0.162

0.148

0.135

0.286

0.257

0.231

0.208

0.187

0.168

0.152

0.137

0.124

0.112

0.258

0.229

0.204

0.182

0.163

0.145

0.130

0.116

0.104

0.093

0.232

0.205

0.181

0.160

0.141

0.125

0.111

0.099

0.088

0.078

0.209

0.183

0.160

0.140

0.123

0.108

0.095

0.084

0.074

0.065
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FORMULAE
Capital Asset Pricing Model =
(Ke)= Krf + Beta (Km-Krf)
Gordon’s Growth Model =
Dividend plus Growth X 100 + Growth
Market VValue Of Share
Preference Shares =
Dividend Payable ~ x 100
Market Value (Ex Div.)
Bank Loan =
Interest Payable less Tax
Irredeemable Debt
Interest Payable lesstax x 100
Market Value of Debt
Redeemable Debt =
Internal Rate of Return =
Positive Discount Rate + Pos NPV + Diff in Disc Rates

Pos NPV + Neg NPV
(ignore negative sign)
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Note the above is not an exhaustive list of formulae.



1082 APPENDICES
Years 21% 22% 23% 24% 25% 26% 27% 28% 29% 30%

0.8264 0.8197 0.8130 0.8065 0.8000 0.7937 0.7874 0.7813 0.7752 0.7692
0.6830 0.6719 0.6610 0.6504 0.6400 0.6299 0.6200 0.6104 0.6009 0.5917
0.5645 0.5507 0.5374 0.5245 0.5120 0.4999 0.4882 0.4768 0.4658 0.4552
0.4665 0.4514 0.4369 0.4230 0.4096 0.3968 0.3844 0.3725 0.3611 0.3501
0.3855 0.3700 0.3552 0.3411 0.3277 0.3149 0.3027 0.2910 0.2799 0.2693
0.3186 0.3033 0.2888 0.2751 0.2621 0.2499 0.2383 0.2274 0.2170 0.2072
0.2633 0.2486 0.2348 0.2218 0.2097 0.1983 0.1877 0.1776 0.1682 0.1594
0.2176 0.2038 0.1909 0.1789 0.1678 0.1574 0.1478 0.1388 0.1304 0.1226
0.1799 0.1670 0.1552 0.1443 0.1342 0.1249 0.1164 0.1084 0.1011 0.0943
0.1486 0.1369 0.1262 0.1164 0.1074 0.0992 0.0916 0.0847 0.0784 0.0725
0.1228 0.1122 0.1026 0.0938 0.0859 0.0787 0.0721 0.0662 0.0607 0.0558
0.1015 0.0920 0.0834 0.0757 0.0687 0.0625 0.0568 0.0517 0.0471 0.0429
0.0839 0.0754 0.0678 0.0610 0.0550 0.0496 0.0447 0.0404 0.0365 0.0330
0.0693 0.0618 0.0551 0.0492 0.0440 0.0393 0.0352 0.0316 0.0283 0.0254
0.0573 0.0507 0.0448 0.0397 0.0352 0.0312 0.0277 0.0247 0.0219 0.0195
0.0474 0.0415 0.0364 0.0320 0.0281 0.0248 0.0218 0.0193 0.0170 0.0150 =
0.0391 0.0340 0.0296 0.0258 0.0225 0.0197 0.0172 0.0150 0.0132 0.0116
0.0323 0.0279 0.0241 0.0208 0.0180 0.0156 0.0135 0.0118 0.0102 0.0089
0.0267 0.0229 0.0196 0.0168 0.0144 0.0124 0.0107 0.0092 0.0079 0.0068 =
0.0221 0.0187 0.0159 0.0135 0.0115 0.0098 0.0084 0.0072 0.0061 0.0053 =
0.0183 0.0154 0.0129 0.0109 0.0092 0.0078 0.0066 0.0056 0.0048 0.0040 =
0.0151 0.0126 0.0105 0.0088 0.0074 0.0062 0.0052 0.0044 0.0037 0.0031
0.0125 0.0103 0.0086 0.0071 0.0059 0.0049 0.0041 0.0034 0.0029 0.0024
0.0103 0.0085 0.0070 0.0057 0.0047 0.0039 0.0032 0.0027 0.0022 0.0018"
0.0085 0.0069 0.0057 0.0046 0.0038 0.0031 0.0025 0.0021 0.0017 0.0014:
0.0070 0.0057 0.0046 0.0037 0.0030 0.0025 0.0020 0.0016 0.0013 0.001%
0.0058 0.0047 0.0037 0.0030 0.0024 0.0019 0.0016 0.0013 0.0010 0.000:

0.0048 0.0038 0.0030 0.0024 0.0019 0.0015 0.0012 0.0010 0.0008 0.000

0.0040 0.0031 0.0025 0.0020 0.0015 0.0012 0.0010 0.0008 0.0006 0.000
0.0033 0.0026 0.0020 0.0016 0.0012 0.0010 0.0008 0.0006 0.0005 0.00
0.0013 0.0009 0.0007 0.0005 0.0004 0.0003 0.0002 0.0002 0.0001 0.00
0.0005 0.0004 0.0003 0.0002 0.0001 0.0001 0.0001 0.0001
0.0002 0.0001 0.0001 0.0001
0.0001
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